Name [ l/\ Diff. Equations and Lin. Alg.
Math 3280, B. Peckham
Quiz 97 Spring 2018

1. Condider the differential equation 3’ — 4y = 5e**

(a) (2 pts) Find the general solution using the first order linear technique by finding an
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(b) (4 pts) Solve using “guess” €™ for y, and method of annihilators to find a guess for y,.
Plug in the guess to determine yp, and give the general solution.
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2. (3 pts) Use USING GAUSSIAN ELIMINATION (row reduction operations) on the “aug- - ¢ e +xe

mented matrix” to convert it to row echelon form to find all solutions to the following system.
Write your answer in vector form, and find a basis for the set of all solutions.
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3. (3pts) Let F be the vector space of all functions from R to ®. Let S be the set of all solutions
to the differential equation 3’ — 4y = 0. Show that S is a vector subspace or F. Do this
by showing the two “closure properties” of the solution set rather than explicitly finding
solutions and showing that this set of solutions forms a vector subspace. (Give your answer
on back.)
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